2.  Solve: (Read carefully)

1.  10% off of £500 
10% = £50
£500 - £50 = £450

2.  40% off of £2.50
10% = £0.25
40% = £1
£2.50 - £1 = £1.50

3.  10% more than 50 metres
10% = 5metres
50m + 5m = 55metres

4.  20% more than £6
10% = £0.60
20% = £1.20
£6 + £1.20 = £7.20

5.  5% less than 300ml
10% =30ml
5% = 15ml
300ml – 15ml = 285ml

6.  2% more than 75kg
1% = 0.75kg
2% = 1.5kg
75kg + 1.5kg = 76.5kg

7.  35% less than 340 metres
10% =34m
30% = 102m
5% = 17m
35% = 119m
340m – 119m = 221m

8.  150% increase in the price of a £6.50 bus ticket
100% = £6.50
50% = £3.25
150% = £9.75
[bookmark: _GoBack]£6.50 + £9.75 = £16.25

